o5 & BA7E obd A2?

@ 63} 189 FHoj-5F4+= 3 o[t}
@ Aopike AT glek
® x=2°]H 3x =6 o|c}.
@ x+1<0
(B ArZ¥ o] M| Hz+he] 7] 9] gke 1



oh2 JA FollA L FAo] Al AL BF I=2H?
@ 2<V6<3 @ 2+ &7} obd
®2>3E=3<5 @ 2<V3<3

) 24 49} go] ZH]Z=0] T},



a, boll thsto] (a+ %) (b+ %) o] H&=7re9

@ 8 3 9 @ 10

" 11



AR QG U

® PcQ

@ PUQO=U

of thete] T =4 p, ¢ S WHE
21 52t GA| p o~ g 7t B ), TS E &

@ PcQ
@ PCOQCZQ



=}
=

. O A FollA REEA]

| & Agol 2ot

o)
B

® AL&o] 9H o] &},



6. A $A=3V3-1, B=V3+2 C=2V3+19 4 BAZ a2
UebR A2

@O CcC<B<A @ A<B<C ® A<C<B

@ B<A<C B B<C<A



AT U =10, 1, 2, 3, 4, 5}l tgke] = x* -2 > 09 A&

H
27

(OR" @ {0, 1} ® {3, 4, 5
@ {2, 3, 4, 5} ® U



8. x y7hA%OlT 242 =109 x4 3y AL

@D 5 ® 6 3 8 @ 9 3 10



9.

= BA S p7hg o7l st Bax

rO
ph)
Mo
B
®
s
=

ca>3,qg:a®>>9

cx =39 Mg g x =6 9 vl
cx=101y=1,g:x+y=20°|"Lxy=1
x=1=2,g:x*=2x+3=0

ta<b,q:lal <|b|



10.

Al =3 p, g, rel Histd ~ p= g, r=~q¢ L, 23 p 7k rol7]
At daFExdolad ohE F of" xxdo] ¢ Lajrp

@ p=q

@ ~g=>p

@ qg=>r

® ~r=p



